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ENV = snd.Button.press.env -> snd.Switch.toggle.env
-> snd.Button.press.env ->STOP
ENV[| EnvSystemInterface |] SYSTEM
output.out_lamp_on -> output.out_motor_move
-> STOP
assert SPEC [F= TEST \
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ENV_1 ||| ENV_2

= snd.Button.press.env -> ENV_1
ENV_2 = snd.Switch.toggle.env -> ENV_2
TEST = ENV[| EnvSystemInterface |] SYSTEM
assert TEST2 :[ deadlock free [F] ]

010 0DOoO0oooOoooooboooooo

6 00

6.1 000000 O0COOOO0OO0O00O0
50000000000000000MOOBb0O00
gboooobooooooobooooboooooooboooo
goobooobomoooooboobooooobooobooon
gboooooooooooooooboooobooboboooo
gobooooooooooooooooooboboooo
0000o0oooooooooooooo

oobooboboooooobooboobobooood
gboooooooooooooooooobooboooo
gbooooooooooboooooooboocoobooboooo
gooooobooooooboooo

oobooooboooooobooboboooboooo
gooooooooooooobooooooooooo
oood

e JOOOODODOOODO
- 000000000000
—boodoboooooooo

e JOOOODOOOODO
—Ooooooboooooooobooooo
—0000o0o0o00ooooooo

e JOODOOODDOO

gbooooooooooooobooboocOoooooo
goooooooooooooooooooboboooo
goboooooooooooooooobooooboooo
ood

62 O0000O0OO0O0OOOOOOOOOO
gobobooboooooooooooOooboooooo
gobooobooooboooooooooooooboon
oooooooooooooo
CSTMDO §”/00000 SOODOOOOOOOOO

n
Sy sy

=0
00000000000000000O0 S’0000oa0
oooooooood

m l
SEY s, o sEy S
j=0 k=0
00000000000 8”000 S'000o0ooo
000000080 S00000000000000
vooddooooooooooooooooooon
ooddooooooooooooooooooon
ooooo

7 O0o0oono

O00000OE-AoSAS++ 000000000000
gobooboooooooooooooooobooboon
ooooooooooooooooboobobooooooo
gobooobooooooooooooooooobooon
gobooobooooooooo

ooboooboooboobooooooooobooobooo
gboooo0ooooooO0omooooboobooon
goboooboooooooooooooooooboDn
ooooooooooooooooo

googd

[1] C.A.R. Hoare, Communicating Sequential Pro-
cess, Prentice-Hall, 1985.

[2] Formal Systems(Europe), “FDR2 User Man-
ual,” http://fsel.com/documentation/fdr2/
html/fdr2manual.html, 2005.

[3] M.Ben-Ari, Principles of Concurrent and Dis-
tributed Programming (2nd ed), Addison-Wesley,
2006.

[4] P. Durr, T. Staijen, L. Bergmans, and M. Ak-
sity Reasoning About Semantic Conflicts Between

Aspects, in Proc. European Interactive Work-
shop on Aspects in Software, Sep. 2005.

[p) 000D0O00O0O0O0OOO0DOOOOOOOD OO0
oooooobobObbbobobbboboboboobobooo
0000 00D0D0D0000DO00DO0O0D (KBSE)O
vol.1080 1n0.4490 pp55-600 2009.

() 00D0,00000000D00O00DO0D OO0
goobooooboOoOobooooboooboooo
000000 oopbboooooDooo XVIo
pp267-2740 2009.



